Sr No. MA Hindi
1| In the series 357,363,369, ....... What will be the 10th term?
Alt1]405
Alt21411
Alt3]413
Alt4|417
2| Choose word from the given options which bears the same relationship to the third word, as the first two bears:

Moon: Satellite :: Earth : ?

Altl

Sun

Alt2

Planet

Alt3

Solar System

Alt4

Asteroid

Door is related to Bang in the same way as Chain is related to ........ P

Altl

Thunder

Alt2

Clinch

Alt3

Tinkle

Alt4

Clank

Select the lettered pair that has the same relationship as the original pair of words:
Emollient: Soothe

Altl

Dynamo: Generate

Alt2

Elevation: Level

Alt3

Hurricane: Track

Alt4

Precipitation: Fall

Which of the following is the same as Count, List, Weight?

Altl

Compare

Alt2

Sequence

Alt3

Number

Alt4

Measure

Spot the defective segment from the following:

Altl

The downtrodden

Alt2

needs

Alt3

to be uplifted

Alt4

on a war footing

Choose the meaning of the idiom/phrase from among the options given:
A close shave

Altl

a nice glance

Alt2

a harrow escape

Alt3

an intimate

Alt4

a triviality




Lightning ------- in the same place twice.

Altl

doesn’t hit

Alt2

never strikes

Alt3

never attacks

Alt4

never falls

Choose the option closest in meaning to the given word:
FLIPPANT

Altl

serious

Alt2

unsteady

Alt3

irreverent

Alt4

caustic

10

Choose the antonymous option you consider the best:
OBSOLETE

Altl

obscure

Alt2

hackneyed

Alt3

current

Alt4

grasp

11

Akash scored 73 marks in subject A. He scored 56% marks in subject B and X marks in subject C. Maximum
marks in each subject were 150. The overall percentage marks obtained by Akash in sall te three subjects were
54%. How many marks did he score in subject C ?

Altl

84

Alt2

86

Alt3

79

Alt4

73

12

A person starts from his house and travels 6 Km towards the West, he then travelled 4 Km towards his left and
then travels 8 Km towards west and 3 Km towards South. Finally he turns right and travels 5 Km. What is the
horizontal distance he has travelled from his house ?

Altl

7 Km

Alt2

15 Km

Alt3

23 Km

Alt4

19 Km

13

If 1st Jan 2012 is a Tuesday then on which day of the week will 1st Jan 2013 fall ?

Altl

Wednesday

Alt2

Thursday

Alt3

Friday

Alt4

Saturday

14

One morning after sunrise, Reeta and Kavita were talking to each other face to face at University. If Kavita’
shadow was exactly to the right of Reeta, which direction was Kavita facing ?

Altl

North

Alt2

South

Alt3

East




Alta|West

15

In an exam every candidate took History (or)Geography(or)both. 74.8%took History and 50.2% took Geography.
If the Total number of candidates is 1500,how many took History and Geography both?

Altl

400

Alt2

350

Alt3

750

Alt4

375

16

Which word includes the larger % of Vowels?

Altl

GOOGLE

Alt2

AMAZON

Alt3

FACE BOOK

Alt4

DOE

17

A= Least prime >24;
B=Greatest prime <28; Then

Altl

A>B

Alt2

A<B

Alt3

A=B

Alt4

None

18

CL X VIl refers

Altl

861

Alt2

701

Alt3

168

Alt4

107

19

Which of the following is larger than 3/5 ?

Altl

1/2

Alt2

39/50

Alt3

7/25

Alt4

59/100

20

Mr. Babu travelled 1200 km by air which formed 2/5 of his trip. One third of the whole trip, he travelled by car
and the rest of the journey was by train. What was the distance travelled by train?

Altl

600km

Alt2

700 km

Alt3

800 km

Alt4

900 km




21

A ST & FEE FIAE ?
A) THET
B) FeTOTeT

= =,

C) %

D) SF9THT THTE

Alt1]|A
Alt2|B
Alt3|C
Alt4(D
22 &
artesprer Iy e BT T 2

A) Y. TTHTS=TH STHT

g < ¢
B) SATHTH TTHHR 5

~ -,

= Lo
C) ATHETH g0 99T= Tadw

D) ST TTHEHTE T

Altl

Alt2

Alt3

o|lO|m|>

Alt4




2| ag drsdt v, Bt wEar g 2
A) |gTRET FHT

B) ST 9THT THTE |
c) Fer=
D) gfH==== 99

Altl

Alt2

Alt3

o|O|wm|>

Alt4

24

i~ -, =, =
HHT FGTHT o oTah Fird g 2

A) TeTaTe

B) 9%

Altl

Alt2

Alt3

o|jO|m|>

Alt4




25

=t arfz=m & zhhagm = G e v Tarfea Grarmar g 2

A) 3

Altl

Alt2

Alt3

o|O|m|>

Alt4

26

A) THEE

B) T

C) FHTT
D) sfrss &=t

Altl

Alt2

Alt3

o|O|wm|>

Alt4




27

A STATH & A@H il 8 ?

A) FETTTATE THT
B) U< AT T
C) e Azt

D) e =¥ |t

Altl

Alt2

Alt3

Alt4

o|O|wm|>

28

I T AT FZTAT o @ FHiT g ?

5 L ud
A) STETH TTHAR 905

« -
B) TATT <TTH T H L

C) I=ET oTHT [T

D) =<t

Altl

Alt2

Alt3

Alt4

o|O|wm|>




29

ATE AL TT2F &5 FGT BT & 7

A) STFAFHT THTE
B) | TTaheT
C) ST.TTHEHTE THT

D) F=HTATZIIoT 1T

Altl

Alt2

Alt3

Alt4

o|O|m|>

30

B) ST TET TATE
C) SRT&TeT 5% AT
D) AT

Altl

Alt2

Alt3

Alt4

o|O|wm|>




31

A) Sr=TH ST waETE fEEet

B) ST=TH TSR 9[FH
C) THT& IATILT
D) fR=r=T

Altl

Alt2

Alt3

o|O|m|>

Alt4

32

TR FTET I F AGE TIA g 7
INEER

B) TqIA
C) Hier® ATgF = JATHH

D) HeaT ST5=

Altl

Alt2

Alt3

o|O|wm|>

Alt4




33

TECTST TM4T & @ Fi 2 ?
A) et
B) STHIT g&<r

i
C) A¥9d ATeg

D) SEe<aTs

Altl

Alt2

Alt3

Alt4

o|lO|m|>

34

Altl

Alt2

Alt3

o|jO|m|>

Alt4




35

B TI==T F TEATTF Tl § 2
A) TTeiE TR
B) SHE=
c) FTr=
D) grH=T H9TTAT
ials
Alt3|C
Alt4(D
36

AT Y AT o THATRTL ®iT 2 ?

A) SETT FTITEOT T

B) TTETEL=0T=TH

[ *

C) WTZdg giss

D) STAFST T5

Altl

Alt2

Alt3

Alt4

o|O|m|>




37

arel ST (et sreasaT 2 2

A) THATTHET ZTH S

B) WTLdg gss

C) TTgeT ATHATIA

D) RERIEIECAES

Altl

Alt2

Alt3

o|lO|m|>

Alt4

38

o w R s F sas F=a 2 ?

A) FHTTT

B) AHTATE AT

C) Tora=T=T ==

D) ST TTH a=TE STHT

Altl

Alt2

Alt3

Alt4

o|lO|m|>




39

HHEHS AT ITATIT & A@F FiiT 8 7
A) ToTITE

o

B) T4 g A<

C) TTge ATHATA

D) = I=T

Altl

A
Alt2|B
Alt3|C

D

Alt4

40

Hisr AT gug St =T E 2
A) FTETRET FHT

S SRS
B) 95 = =14

C) Torara== &gT4

D) Z9% T=areft

Altl

Alt2

Alt3

o|O|wm|>

Alt4




41

e Faawrss=E?
INE RS

B) ST=hehTeT

c) =T

D) STefv= FTer

Altl

Alt2

Alt3

o|O|m|>

Alt4

42

Roersr A =T g ?
A) s Bt fRerer
ByE@=a st e
C) ST f=rarat Rer=r
D) e At =

Altl

Alt2

Alt3

o|lO|m|>

Alt4




43

T AT T FAT Z ?

A) TH
B) &%
C) ATHT
D) FTe=

Alt1|A

Alt2|B

Alt3|C

Alt4(D

44 - .

R s s cas sa 2 ?
A) FererETe
B) e <aTa
C) TgZ=TH
D) H==Te

Alt1|A

Alt2|B

Alt3|C

Alt4(D




45

ot & e ar § 2

A) =T
B) ==
C)&:
D) 9=

Alt1]|A

Alt2|B

Alt3|C

Alt4(D

46 & = =

ACEMA FTE R T ?
A) TTHTE
B) TeeTHTHTH
C) ITST FALE AT
D) mgm TS

Alt1]|A

Alt2|B

Alt3|C

Alt4(D




47

C) IHHTIT oTrET
D) STHHWT emaT
Alt1|A
Alt2|B
Alt3|C
Alt4(D
48
CEH T aTaeTTe & ST e ¥ ?
A) STFTL
B) THT
C) 1T STgT
D} i‘\ + --.
Alt1|A
Alt2|B
Alt3|C
Alt4(D




49 B Al
AT G e 22
A) FTST FT
B) ST T
C) T=F TT9T &7
D) W< |THT T
Alt1]|A
Alt2|B
Alt3|C
Alt4|D
50 . "
T T TS i e gt SraT @ ?
A) Fr=r
B) 9=
C) ATE_ =T Tgaar
D) TET=
Alt1]|A
Alt2|B
Alt3|C
Alt4|D




51 i
T T TS ®T SATeHT e |77 2

A) TAE
B) ATH=ae=
C) WLaHH

D) 9=

Altl

Alt2

Alt3

o|O|wm|>

Alt4

52

TTHFAH TATEH® 79 92 hasT w97 2 ?

A) HTHTZ

B) Sfea<TsT STt

Altl

Alt2

Alt3

o|O|wm|>

Alt4




53

BT ATCHFRAT o AGH FIT & ?

A) STTIAFTT F=H

Altl

Alt2

Alt3

Alt4

o|lO|m|>

54

TAHTET T AT AT HaT FgT ?

A) SATETT TTHEE LFA A

s [ [ i
B)ST=TS gSITLT WaTE faa=

c)f=ra= =

D) saTHHEET TTH A

Altl

Alt2

Alt3

Alt4

o|jO|m|>




55 » - -
TANTITE 9155 o TATTH TIANTHAT FHiT 2 ?
A)STHT
B) Ti=rarTer
C) HEgeTE AT
D) sTHerT TgTEs o

Alt1]|A

Alt2|B

Alt3|C

Alt4(D

56| i "
TEgraaaTa A Fr T AT 2 ?
A) WirT FT=7
B) H& &T=H
C) AgTHT=q
D) ST

Alt1]|A

Alt2|B

Alt3|C

Alt4(D




57

%HEEEEGI'%-

A ar
B: &
C: g

D: g 3T

Altl

Alt2

Alt3

Alt4

o|O|wm|>

58

A7 &7 faeeT gar & -

A: 3t
B: 9T
C: @dr

D: AT

Altl

Alt2

Alt3

Alt4

o|O|wm|>




Pl w7 # ff@T -

3T TdTT 3=0T ¢ |

A: 35T OdTeT =T @THT § |

B: 3T OOt =AY ¥ |

C: ATl ar 3hT 37=0T 3=aT 2

D: 3T HaTa 37=0T g

Altl

Alt3

A
Alt2|B
C
D

Alt4

60

o w1 A =t e |

A: T + F=OT
B: o[ + S=oT
C: gt + o

D: g +  37=oT

Altl

Alt2

Alt3

o|O|wm|>

Alt4




61

T fFaa AT 19 87

A: =t
B: AT
C: 29H

D: T

Altl

Alt2

Alt3

o|O|m|>

Altd

62

=g JrFarer F T v e Af|T -

ST 1= sfegat e@ T & & °

A: 3R
B: =T
C: ==Y

D: sT&O

Altl

Alt2

Alt3

o|lO|m|>

Alt4




63

et fir o= o AT AT E 2

C: 16

Altl

Alt2

Alt3

o|O|m|>

Alt4

“ R F e ¥ 9w e frad Red ¥ 2
A: ITET

B: BT

C: 3§

D: s¥TaT

Altl

Alt2

Alt3

o|O|wm|>

Alt4




65

fedr arfeer =1 sfaew Faa o

A: HT=TT THIE [
B: 375
C: TS=Tudg ARTIUT "HIEr

D: Aot

Altl

Alt3

A
Alt2|B
C
D

Alt4

66

faedr A 3T=Iforer 3U=ITAT T IFH oFH o+  Far?

Altl

Alt2

Alt3

o|lO|m|>

Alt4




67

Rrjor s umT T BTy el & & 2

B: ma Ifasw
C: O9 NS

D: i

Altl

Alt2

Alt3

o|O|m|>

Alt4

68

gTH O dfaeer & s wta g ?

A: FITAH

C: AfaTH

D: 9IHHAS &1

Altl

Alt2

Alt3

o|lO|m|>

Alt4




69 .
oTeg, offaaaT Tad=T AT AET & 2
A 4
B 3
&2
D: 7
Alt1|A
Alt2|B
Alt3|C
Alt4|D
70
SHa T EEEEDH T |
A: S=giat
B: T—_l'Tlﬁ'
C: gHat
D: sHer
Alt1|A
Alt2|B
Alt3|C
Alt4|D




71

[IEIAr 93T & FIIEsh Hid o ?

A: fagrer

B: SHIE

C: AgER YHIE gfaadr
D: 8oy gRRes

Altl

Alt2

Alt3

o|lO|m|>

Alt4

? A& FEET F FEAER FT F 2

A: T+ TS
B: Terdarsr
C: AT

D: TST TTOFRAUYAE, &8

Altl

Alt2

Alt3

o|O|wm|>

Alt4




73

fomtr & 5w o1 & ®faar o= oo 3R T WA # O I # vEes o7 ?

A:; g
B: sdg T
C: gfaadr I
D: SHEEEr o
Altl]|A
Alt2|B
Alt3|C
Alt4|D
" s @ iy o T ¥ 2
A: sfERET
B: AT
C: Suary &g
D: gfyersry gTae
Altl]|A
Alt2|B
Alt3|C
Alt4|D




75
aiFa gfag & a7 g3 3o ARG H FiA AT HAT?
A AT
B: o=y
C: JoeaH=T
D: ITHAAE
Alt1|A
Alt2|B
Alt3|C
Alt4|D
e gTEATSTE &1 YaaT ohd &y o fFar 2
A: HITEI=LOT SAT
B: a7
C: =TT
D: WigAeTel giadar
Alt1|A
Alt2|B
Alt3|C
Alt4|D




77

T2y &7 9gaT 399 Fy AT AaT g ?

A: TET TE

B sf=ry

C: darde

D: AT Shcyehr HT Feer

Altl

Alt3

A
Alt2|B
C
D

Alt4

78

T HTT=IAT &7 9T &gl g3T?

A: geeir
B: wIE
c:
D: T

Altl

Alt2

Alt3

o|jO|m|>

Alt4




79

gforag @ g ffEe & 391 HeEey AFg & 2

A: afa=
B: ST9THIES 3FaST
C: T SoTeig §3Eadr

D: HglcHT Fmedr

Altl

Alt2

Alt3

o|O|wm|>

Alt4

80

amﬁmmmmﬁgm?

A: FIA

B: dffc=g
C: FdleH

D: 3gUEs

Altl

Alt2

Alt3

o|O|wm|>

Alt4




81 )
RerT o &g AT 7 =41 Froor ?
A 37T
B: si=rqdr
C: AREEr
D: s
Altl]|A
Alt2|B
Alt3|C
Alt4|D
82
THARNTATHT'HT =1 g Fir 2
A: IreHITF
B: FEcH
C: st=sffa
D: Jerdiery
Altl]|A
Alt2|B
Alt3|C
Alt4|D




83

Adeg geTs & ey H W ¥ ?

A: e
B: 9aTeT
C: 9&aAT

D: 37IreaT

Altl

Alt2

Alt3

o|O|m|>

Alt4

84

e FHg T U Fa At g 2

A Ao

B: éf;:ﬂquw
C: #resra FAT

D: Hiedsrer

Altl

Alt2

Alt3

o|lO|m|>

Alt4




85

SHAHT T F AT Tegeed ‘Thw Fer Fr w=mar g 2

A: ATEH
B: TehrehT
C: Fgrr

D: 39-ard

Altl

Alt2

Alt3

o|O|wm|>

Alt4

5| @ wEuerT ¥ T =T Wi ¥ 2

Altl

Alt2

Alt3

o|O|wm|>

Alt4




¥ fadr IF galEe T YRET e @ HIAT SiTar 272

A: dTHEOS ' F TR o
B: IS & 9 &
C: 9% Ffaar & HEHS &

D: SIEE & 994 O

Alt1]|A

Alt2|B

Alt3|C

Alt4(D

88 }
s ® ffagea s Fia 82
A: THTAS
B: &=
C: Non-cooperation movement T&grT
D: #fau#

Alt1]|A

Alt2|B

Alt3|C

Alt4(D




89

el &g U= & eEir ST 972

A: JrERTS =i
B: ST

C: gFiReT

D: srafdig

Altl

Alt2

Alt3

o|lo|w|>

Alt4

90

Fo s arAaT FAFT FE AT E ?

A: Teemmafa
B: ST
C: 39y

D: f=TerT

Altl

Alt2

Alt3

o|lo|w|>

Alt4




91

SAH B el &ia Hia & ?

A: T

B: SgISIATE AT
C: FTTdr

D: 3#RX gaEU

Altl]|A

Alt2|B

Alt3|C

Alt4|D

72 Hrr 91 form gfea g & Af@er AT S g 2
A: ﬁ'ﬂjﬂT
B: Fwor s1laa
C: THAET
D: {fr sfFa

Altl]|A

Alt2|B

Alt3|C

Alt4|D




93

gl 3R afear &Fe s9eaa & 3w 9 € ?

A: TEH
B: Ty
C: 9HISH

D: a1 "9

Altl

Alt2

Alt3

o|O|m|>

Altd

94

TeAATET  Fr =T o s A fr 2

Altl

Alt2

o|jO|m|>

Alt3

Alt4




95

SAH T BT T FYUT I & ?

(37) 7T MW Fa & {rsg o |
(¥) W@ S ui & HgArT 2

(F) qETH FCoTT & g A AT & |

() HRT TSFATT hr o |

Al H

B: g

cC: 53

Altl

Alt2

Alt3

Alt4

o|lO|m|>




96

By 7 ToocaER Flaar Fa I @ I=Ar A g ?

A: SOTITETEr
B: SrITETEr
C: grelranar
D: Sarferamdr

Altl

Alt2

Alt3

o|lO|m|>

Altd

97

SHH O i OT FUT TEr g ?

(37T 3= HeT I F AWE o |
(F)iEE deeT R & wEYE aEE o |
(¥ FTHERT § wErgsfa @d 9 |
(@)eF=E ST T3 & 79 @ gefeaa 3

A H

@l =




Altl

Alt2

Alt3

o|O|wm|>

Alt4

98

fg=cr =areRtor 9T s gFa=s forlr?

A: gargaTE gfaadr
B: e &g dte=s

C: ShrHdIdIS qe

D: STeT seTardAar

Altl

Alt2

Alt3

o|O|wm|>

Alt4

99

I A T F F FEaOT T FT FEr AT g ?

A: 2rHIY Fgigt &g

B: cj;w-:ammmuz
C: Srepra AT

D: =T

Altl

Alt2

Alt3

o|jO|m|>

Alt4




' g T IfFETT geY #10F Py e s 2

A: T 3THTET T
B: 397 TS T

C: Tgdedar =1

D: 39«AT \HTH AT

Altl

Alt2

Alt3

o|O|wm|>

Alt4




